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9 Half Yearly Examination - 2022 A

Time: 3.00hrs MATHEMATICS Max. Marks : 100
PART - A
1. Choose the correct answer 14x1=14
I. Theset P={x|xeZ, -1<x<l}isa
a. Singleton set b Power set ¢. Null set d. Sub set
2. Forany three sets P, Qand R, P~ (QNR) is
a. P-(QUR) b.(P NQ)-R e (P=Q)U(P-R) d.(P-Q)N(P-R)

3. Which one of the following, has a lerminating decimal expansion?’

5 8 14 1
- b, = € = d —
64 B 5 1 12

4. 4J7 x 243 =
Ca 6VI0 b 8VZT ¢ 8VI0 d. 621

5. The type of polynomial 4 - 3x3 is

a. Constant polynomial b. linear polynomial

¢c. qguadratic polynomial d. cubic polymomial
6. If(2.3) is asolution of linear equation 2x +3y =k then , the value of kis
a. 12 b. 6 c.0 . d. 13

7. (3—x)is a factor of p(x), if P(__)= 4]

Wik

a -3 b c. +3 d.
8. The exterior angle of a triangle is equal to the sum of two
a. Exterior angles b. interior opposite angles c. Alternate angles d. interior angles
9. The angles of the triangle are 3x —40, x+ 20 and 2x-10 then the value of x i
a. 40° b. 357 e, 50" d. 45°
10.If Q1 Q. Q3 Q4 arc the quadrants in a Cartesian planc then Q21 Qs is
a. QUQ: b. QU Qs c. Null Set d. Negative x - axis
11. The ratio in which the x - axis divides the line segment joining the points(6.4) and (1,-7) is
a 2:3 b. 3:4 c.4:7 d. 4:3
12. It D is the midpoint of AC and C is the midpoint of AB then find the length of ABif AD =4 cm

a. 4 b. 8 ¢ 12 d. 16

13. It tan#® = cot 37", then che‘value of 8is
a. 37° b. 53" c. 9Q° d. 1°

14. The value of cosec(70°+ 8) — sec (20°— 8) -+ tan (65° + ) - cot(25° - ) is
a. 0 b. | c. 2 d 3
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PART - B

Answer any 10 questions. (Q. No. 28 is compulsory) 10x2=20

IS. Find the number of subsets and the number of proper subsets of a set X= { a, b ¢, x, vy, 2|

16. Find the symmetric difference between the following scts.

X

17
18,

19.

20.
21.

22

28.

. In a quadrilateral ABCD, ZA = 72°

=1{5.0.7} and Y = { 5,7.9,10)

S
Find the value of 817
Represent the following numbers in scientific notation (0.000001)" + (0.005)*
. 3y hieyb 3 2
Find the degree of the following polynomials 1) - :6’\ i) 2\/§P4"%7? ¥ 2
x 3 7

Find the GCD of the following : 2a® + 2. 4

5
a -]

Prove that [a + (Ll]: - [a - 1]2 =4

a

- Find the value of x" in the following figure

and ZC is the supplementary ot ZA. The other two angles are 2x —

10 and x + 4 . Find the value of x and the measure of all the angles

- Find the distance between the following pair of points (3,4) and (-7,2)

25. H(3.x) s the midpoint of the line segment joining the points A(8,-5) and B(-2,1 1) then find the value of

E]

Kw

. If the centroid of a triangle is at (-2,1) and two of its vertices are (1,-6) and (-5.2), then find the third

vertex of the triangle.

At 2cos 0 = \/t’;, then find all the trigonometric ratios of angle 8
Eval sec 63°
“valuate | —————
Envalus cosec 27
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PART - ¢
ML Answer My 10 questions,

2 -
29. Verify AU (R ) - (AUR

A0 Ty class, all

(Q. No. 42 is compulsory) 10x5=5¢

) N (AUC) using Venn diagrams,
students take p

art ] I e 05 e 3l i

i art i cither music of drama or both, 25 students take part in music. 30
5 S take p ' | o
ake part in both music and drama. Fing

students who tuke p

art in drama and 8 students t

(1) The number of art m only mug;
i sic,
(1) The number of students who take part in only dr

i dama.
(1) The total number of students in the clags,

31 Find the value ofaand bit =2 — 4.5, ¢

V7 +2
N
; SO 2 S N
32. Represent 3.35 on the number line upto 4 decinal places.
33

. The area ot a rectangle is x2+7x+12. Ifjts breadth is ( x+3) then find jts

length.
. Factorise: x3-5x2.2x +24.

(9%]
PN

0
N

~ 2 1 -
s A1 = == 23, then find the value of x ++ and 23 ~ —13- .
X b ¢
36. In a parallclogram ABCD, the bisectors of the consccutive
ZAPB = 90°,

angles ZA and ZB interscct at P. Show that

37. Find all the anglces of the given cyclic quadrilateral ABCD in the fi gqure

38. Orthocentre and centroid of a trianglc are A (-3,5) and B (3,3) respectively. IfFC is the
*circumcentre and AC is the diameter of this circle, then find the radius of the circle.

39. Show that the points A(-1. -2), B(3. -2),((2, 3), D(-2.3) taken in that order form the vertices of a
parallelogram

40. Find the area of the right angled triangle with hypotenuse 5¢m and one of the acute angle is 4Q°3().

{(s1048°30° = 0.7490, cos48°30° = 0.6626)

~ Scanned with ACE Scanner
Kindly send me your questions and answerkeys to us : Padasalai.net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

WWW.PadasaIai.Net' www.CBSEtips.in

41, From the given figure, find the valucs of (t}sin B {1)sec B (iit) cot B

(v} cos C (v)tan C {vi) cosec

AR NN

B 5 D 16 C

AL
|

2. Find the value of *a’ such that PQ = QR where P, Q and R are the points whosc coordinates arc

(6.-1). (1. 3) and (a, §) respectively.

PART -D
V. Apswer the following. 2x8=16
43.  a) Construct APQR whose sides are PQ = 6cm, £Q = 60° and QR = 7cm and locate its
orthocentre
OR

b) Construct the right triangle PQR whosc perpendicular sides are 4.5¢m and 6ecm. Also locate its
circumcentre and draw the circumcircle.

44. a) Draw the graph of y = 3x — |

OR

b) Two cars are 100 miles apart, If they drive towards each other they will meet in one hour. If they drive

in the same direction they will meet in two hours. Find their speed by using graphical method.
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